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| cany count to- 100.
By the end of this half term, childrery should be able to- count to 100 confidently, easily,

Perhaps start off using part of o 100 square (see below) and as confidence grows try
withoub any aides. Once they are confident to SO try beyond SO to- 100.
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fromy exg. |5, Practise counting both forward, ands backwards.
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https://www.primarygames.co.uk/pg2/splat/splatsq100.html
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I carv add O or | to @ rumber. I carv add & to @ number
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0+0=0 0+1=1 0+2=2 | Theyshouldalso
Nnow the
1+0=1 1+1=2 1+2=3 commutative
2+0=2 2+1=3 2+2=4 calculations:
3+0=3 3+1=4 3+2=5 )
4+0=4 4+1=5 4+2=6 2+4=6
5+0=5 5+1=6 5+2=7 2+9=11
6+0=6 6+1=7 6+2=8
7+0=7 7+1=8 7+2=9 2+3=5
8+0=8 8+1=9 8+2=10 L4627
9+0=9 9+1=10 9+2=11 )
10+0=10 10+1=11 10+2=12 1+9=10
When you add zero to a When you add one to a When you add two to
number, the number number, the number a number, the number
stays the same. increases by one. increases by two.
Key vocabulary
8 add 2 equals 10
3 plus 2 is the same as 5
If | have 6, then | get 2 more, how many in total now?




Kexé/InstoanecalLFad&
Year | - Autumr &

Tol:nowwnwnbenbond&to|0.

Bg;ﬂwwdo}ﬂwhol}m &uldms?wuldb\owﬂw(ﬁo[lovwr@(ﬁod& The aim s

0+10=10 0000 10-10=0

10+0=10 o eoe0e 10-0=10
— | |
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3+7=10 ., ...| 10-=7=3

7+43=10 10-3=7
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d+6=10 ooeee 10-6=4

6+4 =10 10-4=6
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5+5=10 oeoo e 10-5=5

Key vacabulary
2 add 8 equals 10
8 plus 2 is the same as 10

If | have 4, how many more to
get to 107

What's the difference
betweesn ¥ and 107

10 take away 7 equals 3
10 subtract 3 makes 7

10 minus 9 equals 1

e/.g/.9\+_ = OO{\_‘7=3.
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Make the whole fact family - If 9 + | = 10, then | + 4 = 105010 - 9 =l and |0 - | = 9
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https://www.topmarks.co.uk/maths-games/hit-the-button
http://www.conkermaths.org/cmweb.nsf/products/conkerkirfs.html
https://www.topmarks.co.uk/maths-games/daily10

